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DOGJ ]C(X)= sin(x) have aw inve.rsa? N_O-’ I+
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Ho»Jeu&r‘) we can resdiricd Sin(X) b a domain I/Jlxet'ﬁ

il does pass the horizontal Line test awd hence
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has an inverse -  \Well restrict 4o [1,‘:,;].




\/\/& ‘Hne,y, Jejcme, y=sin™(x)
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Note: sin'(x) is also denocted a,rcsm(x).

Examples: s.‘n"('i) = %
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Wait ... Sm(T)- 2 Yoo, so is i+ also correct

4+, write S‘\V\"(‘;'_) = GTTC? No'!

Remember, sin ame:js outputs values in

[.-E%t , so it “chooses" % over S%T, %, efe...
sin” () s unc\ef‘.ned,

sin (sa'(2)) = sin (3) = 1

Sin™! (sm(z—")) = sm"(-%) - ‘%
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Foc cos(x), we define cos™: ):o"n‘] —_ ["1,1]
k olso Knewn as arccos
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For 4an(x) , we define ton':(-0,0) — ("%, ™)

k olso Known as arctan
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Yov. Ma.J necA -‘-o eva.lu.od-e. exprcssion.s inVa/vMJ "‘P,‘j
fumb#?on.s ond +heic inverses. e can do  +his u:i.«j

“'r;omjles and 'l-r;j identities .



Ex: Evoaluste the fo\\ow:nj.

(2) sin (cos"( q/7))

Selution: Want to know sn@ where & =cos™(%7).

(.So Cos® =
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(b) sin(2cos(%))
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Solution: Want o know sn2@ where <9-‘C°5"('/3).
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(¢) tow (82 s (3’5))

Solution: Want to Know 1an(R8) where 6 = sin"(3/5)
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(so sin®=¥5)

tan(2e) = Sin(20)
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